1. (11 points)

(b) Find the center and radius of the sphere with points P(z,y, z) such that the distance from
P to A(0,0,2) is triple the distance from P to B(0,0,0).

N

N

x4 m‘l-+ (:;‘:1)1‘“'
-y

"% 7
rg\lxl'ﬁ- 7 T4 ‘-I;l
><L+J”+ 2™ daed = O +qT

4= @x"+ 931’4 B2 +42

o -
Lol wregtrt ar TG
+ 4 = %+
le J Ly gy 3
= y
|G .4 '{'J + (%'ﬁ'_"@ﬁ

| CENTER = COJOJ - Teadus =



2. (14 pts) Consider the triangle shown. The coordinates for C are (4,3,1).
You are given BA = (—2,-1,3) and BC = (—1,1,4).
The dotted line CD is perpendicular to BA.

Answer the following questions (Leave your answer in exact form, you do not have to simplify).

(a) (5 pts) Find the equation of the plane that contains the points A, B, and C.
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(b) (3 pts) Find the area of the triangle ABC.
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(c) (3 pts) Find the coordinates for the point A.
N
RC = <= 4> and C=(430) = B=(4-71 21, 1-4)
2= ( & Z.J—Z')
.
Bh =¢-2,-1,3) and B=(S2-3) =5 R =(S+2 2471 -143)
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(d) (3 pts) Find the distance from B to D.
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